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#include <bits/stdc++.h>
using namespace std
const int maxn=2000

bool vis|/ maxn

vector=int> p/maxn

int mth[maxn

int n,m,e

bool dfs(int now

int len=p[now|.size
int i=0;i<len;i

int v=plnow| |1
vis|v /0000000000000 0O00
vis|v]|=1
mthv dfs(mth|v /0000000000000 00000O00000O0

mth|[v]=now
1

void ini

int i=1;i<=2*n;i vis[i]=0
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int main
int t,ans
scanf("%d", &t
t
int x,yes
scanf("%d",&n
int i i n;i mth|i pli].clear

int i=1;i<=n;i
int j j<=n;j

scanf ("sd", &x
x) pli].push back(j+n

int i=1;i<=n;i

ini
dfs(i

yes
break

yes) printf("Yes\n"
printf("No\n"
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